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Calculus Practice: Techniques for Finding Antiderivatives 11a

Evaluate each indefinite integral. Use the provided substitution.

1) f864x - csc? (e4x + 5) dx; u= e¥+5

A) —2sec (e4x + 5) +C
B) —2cot (e4x + 5) +C
C) —2sin (e +5)+

D) —2cos (e4X + 5) +C

3) f—lSeSX sec? (@ +1)dx; u=e™+1

A) —3cot (esx +1)+C
B) —3tan (esx )
C) —3cos (e

D) —3csc (e

5X

+1)
5X+1)

5) f4exsin (eX + 5) dx; u=e*+5

A) —4csc (e
B) —4sec(

C) —4cot (eX+
D) —4cos (ex +

e

+ 5)
“+3)+cC
5)+C
5)+C

7) f—Sersec (ezx + 2) dx; u=e”+2

A) —4cot (ezx+2)+C
B) —4csc (e +2)+C
C) —4In |sec e +2 | +C

D) —4In ‘sec(e +2)+tan e +2 |+C

9) f25€5xcsc (esx + 5) dx; u=e>+5

A) Ssec (eSx + 5) +C

B) 5In |csc (e5X+5)—c0t(e5X+5)| +C

C) Stan (e5x + 5) +C
D) 5cos (esx + 5) +C
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2) fzezxsin (e —3)dx; u=e*-3

4) fexsin (e*—1)dx; u=e*-1

A) —sec (ex 1)
B) —csc (ex 1)
C) —tan (ex l)

D) —cos e - 1)

6) fSezxtan (e2X + 4) dx; u=e”™+4

A) 4tan (™ +4)+C
B) 4In |sec (e2X+4)‘ +C
C) 4sec (ezx + 4) +C
D) 4cos (ezx + 4) +C

8) f 66 tan (e = 2) dx; u=e* -2

A) 2sec (e3x - 2) +C
B) 2tan (e -2)+C
C) 2In |sec (e3x—2)‘ +C
D) 2sin(e¥-2)+C

10) f6ezxcsc (ezx - 5) dx; u= e -5

A) 3In |csc(e —5)—cot e*-5 |+C
B) 3sec(e —5)+C

C) 3In |sec(e2X—5)‘+C

D) 3tan(ezx—5)+C



dx; u=e* -3

10e™sin (e - 3 4e>
1 f— sin ) 12) [-—=——dx; u=e*-2
CSC

cos? (ezx — 3) (ezx - 2)
A) —5csc (62X - 3) +C A) 2cos (e - 2) +C
B) —Ssec (ezx — ) B) 2sec (e - 2)
C) —5tan (e —3)+C C) 2cot(e® - 2) +
D) —5sin (ezx - 3) + D) 2sin (ezx 2) +
13) f_5e75x dx; u=e™ -1 14) fzoe“xcos (e4x i 5) dx; u=e"+5
csc (es>< - l) sin® (e4x + 5)
A) cos(e —1)+C A) —5sec(e +5)+C
B) tan (6™~ 1)+C B) —5tan (€™ +5)+C
C) sec (esx - 1) C) —5csc (e4x + 5) +C
D) cot(e®—1)+C D) —5cot(e¥ +5)+C
15) f—i dx; u=e" -3 16) j‘zoesxcos (6™ -2) dx; u=e>-2
sec (e4x - 3) sin (esx — 2)
A) —3sin(e4x—3)+C A) 41In sin(e -2 ‘ +C
B) —3csc (e4x - 3) +C B) 4csc (esx - 2) +C
C) —3sec (e™—-3)+C C) 4In |esc (e -2) - cot )| +c
D) —3tan (e4x 3) +C D) 4In [sec (e - 2) + tan ‘ +C

5e” X
18) fmdx, u=e +3
A) S5In ’sec(ex+3)‘ +C

B) Ssec (ex+3)+C
C) Stan (e*+3) +C
D) 5In ’sec(ex+3)+tan(e

17)[ COS( 1) s u=e -1

A) -3In ‘sec X—1)+tan(e -1 ‘+C
B) 3cos(e -1
C) —3cot (e* — 1

)
D) —3esc (e” —1) “13)| +cC

5X 5x
19) fﬁi_l)dx; u=e>-1 20) f—ﬁdx; u=e>+1
A) 3In |sec(e5X—1)+tan(e5X—l)‘ +C A) —3In |sec (e5X+1)’ +C
B) 3sin(e¥—1)+C B) —3In |ese (6% + 1) —cot ¥+ 1)] +C
C) 3cot(e¥-1)+C C) —3cos (e¥+1)+C
D) 3In |sec(esx—l)‘ +C D) —3In |sec (eSX+1)+tan(esx+1)’ +C
-
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Calculus Practice: Techniques for Finding Antiderivatives 11a

Evaluate each indefinite integral. Use the provided substitution.

1) f864x - csc? (e4x + 5) dx; u= e¥+5

A) —2sec (e4x + 5) +C
*B) —2cot (e4x + 5) +C

C) —2sin (e +5)+

D) —2cos (e4X + 5) +C

3) f—lSeSX sec? (@ +1)dx; u=e™+1

A) —3cot (esx +1)+C
*B) —3tan (esx )
C) —3cos (e

D) —3csc (e

5X

+1)
5X+1)

5) f4exsin (eX + 5) dx; u=e*+5

A) —4csc (e
B) —4sec(

C) —4cot (eX+
*D) —4cos (ex +

e

+ 5)
“+3)+cC
5)+C
5)+C

7) f—Sersec (ezx + 2) dx; u=e”+2

A) —4cot (ezx+2)+C

B) —4csc (e +2)+C

) —41n|sec e’ +2|+C

*D) —4ln‘sec(e +2)+tane +2|+C

9) f25€5xcsc (esx + 5) dx; u=e>+5

A) Ssec (eSx + 5) +C

*B) 5In |csc (e5x + 5) —cot (e5x + 5)| +C
C) Stan (e5x + 5) +C
D) 5cos (esx + 5) +C
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2) fzezxsin (e —3)dx; u=e*-3

A) —sec (ex 1)
B) —csc (ex 1)
C) —tan (ex l)

6) fSezxtan (e2X + 4) dx; u=e”™+4

A) 4tan (™ +4)+C

*B) 4In |sec (ezx + 4)‘ +C
C) 4sec (ezx + 4) +C
D) 4cos (ezx + 4) +C

8) f 66 tan (e = 2) dx; u=e* -2

A) 2sec (e3x - 2) +C
B) 2tan (e -2)+C

*C) 2In |sec (e3x - 2)‘ +C
D) 2sin(e¥-2)+C

10) f6ezxcsc (ezx - 5) dx; u= e -5

*A) 31n |csc(e —5)—cot e*-5 |+C
B) 3sec(e —5)+C

C) 3In |sec(e2X—5)‘+C

D) 3tan(ezx—5)+C



11) f— 10e”sin (ezx — 3) dx; u=e* -3 12) f—4e_2X dx; u=e* -2
cos? (ezx — 3) csc (ezx - 2)
A) —5Scsc (62X — 3) +C *A) 2cos (e — 2) +C
*B) —5sec (ezx ) B) 2sec (e - 2)
C) —5tan (e2x — 3) +C C) 2cot (ezx )
D) —5sin (ezx - 3) + D) 2sin (ezx 2) +

13) f_5e75x dx; u=e™ -1 14) fzoe“xcos (e4x i 5) dx; u=e"+5
csc (es>< - l) sin® (e4x + 5)
*A) cos (e — 1)+C A) —5Ssec (e +5)+C
B) tan (™~ 1)+ C B) —5tan (€™ +5)+C
C) sec (esx - 1) *C) —5csc (e4x + 5) +C
D) cot(e™-1)+C D) —5cot (e™+5)+C
15) f—i dx; u=e™ -3 16) j‘zoesxcos (6™ -2) dx; u=e” -2
sec (e4x - 3) sin (esx — 2)
*A) —3sin (e4x—3)+C *A) 4In |sin (e -2 ‘ +C
B) —3csc (e™—-3)+C B) 4csc (e¥—2)+C
C) —3sec (e™—-3)+C C) 4In |esc (e -2) - cot )| +c
D) —3tan (e4x 3) +C D) 4In [sec (e - 2) + tan ‘ +C
17)[ X; u=e‘—1 18) fs—(axdx;UZeX+3
cos ( 1) cos (ex + 3)
*A) =3In ‘sec X—1)+tan(e -1 ‘ +C A) S5In ’sec(ex+3)‘ +C
B) —3cos (e — 1) B) Ssec (eX + 3) +C
C) —3cot (e* — 1 C) 5tan (e +3)+C
D) —3csc (e —1) *D) S5In ’sec (ex+3)+tan(ex+3)’ +C
5x 5x
19) fﬁi_l)d)@u:esx_l 20) f—ﬁdx;UZesﬁl
*A) 31n |sec (esx— 1) + tan (esx— 1)‘ +C A) —3In |sec (e5X+ 1)’ +C
B) 3sin(e¥—1)+C B) —3In |ese (6% + 1) —cot ¥+ 1)] +C
C) 3cot(e¥-1)+C C) —3cos (e¥+1)+C
D) 3In |sec (esx— 1)‘ +C *D) —=31In |sec (eSX+ 1)+tan (eSX+ 1)’ +C
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